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Tnpsc group I / ii preliminary  
WEEKLY TEST 12 

BATCH V & KAMARAJAR BATCH 
 
1. How is the hot wind of Western India called? 

a. Norwesters   b. Loo   c. Mountain breeze  
d. Valley breeze   e. Answer not known 
,e;jpahtpd; Nkw;F gFjpapy; tPRk; ntg;gf; fhw;W vt;thW 
miof;fg;gLfpwJ? 
a. ehh;nt];l;Nlh;];  b. Y}    c. kiy fhw;W   
d. gs;sj;jhf;F fhw;W  e. tpil njhpatpy;iy 

 
2. The State that experiences longest rainy season in India is  

a. Tamil Nadu   b. Kerala    c. Karnataka 
d. Gujarat    e. Answer not known 
,e;jpahtpy; ePz;l kiof;fhy gUtj;ij nfhz;bUf;Fk; khepykhdJ 
a. jkpo;ehL   b. Nfusk;    c. fh;ehlfk;  
c. F[uhj;    e. tpil njhpatpy;iy 

 
3. Which of the following regions receive minimum rainfall in India? 

a. Western Madhya Pradesh  b. Western Rajasthan  
c. Eastern Madhya Pradesh  d. Orissa     
e. Answer not known 
gpd;tUtdtw;Ws; ,e;jpahtpy; Fiwe;j msT kiog;nghoptpid ngWk; 
gFjp vJ? 
a. Nkw;F kj;jpag;gpuNjrk;   b. Nkw;F ,uh[];jhd;   
c. fpof;F kj;jpag;gpuNjrk;   d. xhprh     
e. tpil njhpatpy;iy 

 
4. The word ‘Monsoon’ has been derived from ______ word. 

a. Urdu  b. Hindi c. Arabic d. Greek e. Answer not known 
‘khd;#d;’ vd;w nrhy; ___________ nkhopr; nrhy;ypypUe;Jg; ngwg;gl;lJ. 
a. cUJ   b. ,e;jp c. mugp d. fpNuf;fk; e. tpil njhpatpy;iy 

 
 
 



 

2 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

5. The rains caused by thunderstorms is called as ‘Cherry Blossoms’ in the 
state of  
a. Kerala   b. Karnataka   c. Tamil Nadu 
d. Andhra Pradesh e. Answer not known 
‘nrh;hp g;shrk;];’ vd;W miof;ff;$ba ,bAld; $ba kio ngWk; 
khepyk; 
a. Nfush   b. fh;ehlfh   c. jkpo;ehL 
d. Me;jpu gpuNjrk; e. tpil njhpatpy;iy 

 
6. The tropical cyclone winds blow into the Northern Hemisphere in _____ 

direction. 
a. Clockwise  b. Straight   c. Anticlockwise 
d. Circular   e. Answer not known 
tlf;F miuf;Nfhsj;jpy; Vw;gLk; tspkz;ly NkyLf;F Row;rpapy; ve;j 
jpirapy; 
fhw;W RoYk;? 
a. fbfhur; Rw;W  b. Neuhf   c. vjph;fbfhur; Rw;W 
d. tl;lkhf  e. tpil njhpatpy;iy 

 
7. Which winds provide heavy rainfall to the east part of Tamil Nadu? 

a. Westerlies winds   b. South – West winds  
c. North – East dry winds  d. North – East cold winds   
e. Answer not known 
jkpo;ehl;bd; fpof;F gFjpfSf;F mjpf mstpyhd kiog; nghoptpid 
nfhLf;Fk; fhw;Wfs; vit? 
a. Nkw;fj;jpa fhw;Wfs;  b. njd;Nkw;F fhw;Wfs; 
c. tlfpof;F twz;l fhw;Wfs; d. tlfpof;F Fsph;e;j fhw;Wfs; 
e. tpil njhpatpy;iy 

 

8. The highest temperature in India during the winter season occurs at  
a. Chennai    b. Hyderabad   c. Banglore 
d. Thiruvananthapuram e. Answer not known 
,e;jpahtpy; Fspu;fhyj;jpy; ntg;gepiy mjpf mstpy; fhzg;gLk; ,lk; 
a. nrd;id   b. i`juhghj;   c. ngq;f@U 
d. jpUtde;jGuk;  e. tpil njupatpy;iy 

 

9. Which type of climate is having the following characteristics? 

i. Mean annual temperature is above 18C. 
ii. Seasonal Rainfall (in Summer). 
iii. Stretches over the rain shadow region. 
a. Semi Arid Steppe climate   b. Hot desert climate 
c. Mesothermal climate    d. Tropical Moist Climate 
e. Answer not known 
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ve;jtif fhyepiy gpd;tUk; gz;Gfisf; nfhz;Ls;sJ? 
i. Mz;L ruhrhp ntg;gepiy 18C f;F Nky;. 
ii. gUtfhy kio (Nfhil fhyj;jpy;) 
iii. kiokiwT gFjpapy; gutpAs;sJ. 
a. kpjtwz;l Gy;ntsp fhyepiy   
b. madkz;ly ghiytdf; fhyepiy 
c. kpjntg;g <uf; fhyepiyfs;    
d. ntg;gkz;ly <ukhd fhyepiy 
e. tpil njhpatpy;iy 

 
10. Consider the following statement: 

1. North-Western part of India get rainfall during North-East monsoon 
2. In India, Red panda is found in the Western Himalayas 
3. Tamil Nadu get much rainfall during South-West monsoon 
Which of the statements(s) given above is/are correct? 
a. only 1  b. only 2  c. both 1 and 2  d. both 1 and 3 
rhpahd $w;Wfis Njh;f 
1. ,e;jpahtpd; tl-Nkw;F gFjp> tl fpof;F gUtf;fhw;W fhyq;fspy; 

kioia ngWfpwJ 
2. ,e;jpahtpd; Nkw;F ,ka kiyg;gFjpfspy; rptg;G ghz;lh 

fhzg;gLfpwJ.  
3. njd;Nkw;F gUtf;fhw;W fhyj;jpy; jkpo;ehL mjpf msT kioia 

ngWfpd;wJ.  
a. 1 kl;Lk;  b. 2 kl;Lk;   c. 1 kw;Wk; 2  d. 1 kw;Wk; 3 

 
11. Which type of rainfall is closely associated with Equatorial Region? 

a. Orographic rainfall  b. Frontal or cyclonic rainfall 
c. Convectional rainfall d. Monsoon rainfall 
G+kj;jpag; gFjpapy; nghopAk; kioapd; tif vJ?- 
a. kiy jil kio   b. tspKf my;yJ Gay; kio  
c. ntg;gryd kio  d. gUtf; fhw;W kio  

 
12. Match the List I (Local Wind) with List II (Places): 

A. Chinook   1. India – That desert 
B. Fohn    2. Sahara desret 
C. Sirocco    3. Northern Italy 
D. Loo    4. USA 

A B C D 
a. 3 4 2 1 
b. 2 3 4 1 
c. 4 3 2 1 
d. 1 3 2 4 
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gl;bay; I ypy; cs;s jyf; fhw;Wfs; gl;bay; II ypy; cs;s ,lq;fSld; 
nghUj;Jf. 
gl;bay; I      gl;bay; II 
A. rpd;D}f;     1. ,e;jpahtpd; jhh; ghiytdk; 
B./ghd;         2. rfhuh ghiytdk; 
C. rpuhf;Nfh       3. tlf;F ,j;jhyp  
D. Y}            4. mnkhpf;f If;fpa ehLfs;  

A B C D 
a. 3 4 2 1 
b. 2 3 4 1 
c. 4 3 2 1 
d. 1 3 2 4 

 
13. Subtropical Dry summer climate is otherwise known as 

a. Mediterranean climate   b. China type climate 
c. Taiga climate     d. Tundra climate 
cgntg;g kz;ly twz;l Nfhil gUt fhyepiy ,t;thWk; 
miof;fg;gLfpwJ. 
a. kj;jpa jiuf;fly; fhyepiy   b. rPdh fhyepiy   
c. ilfh fhyepiy      d. J}e;jpu fhyepiy 

 
14. Which one of the following is the highest cloud in the sky 

a. Cirrus  b. Nimbus  c.  Stratus  d. Cumulus 
gpd;tUtdtw;wpy; vJ tpz;zpy; cah; kl;l Nkfq;fs; MFk;? 
a. fPw;W Nkfk;   b.fhh; Nkfk;   c. gil Nkfk;  d. jpus; Nkfk;  

 
15. “Southerly trades on crossing the equator are deflected to the right” is 

proposed by the ______ 
a. Humbolt law     b. Buy Ballot’s law 
c. Ferrel’s law     d. Newton’s law 
njd; tpahghuf; fhw;W Gtpapil Nfhl;il fle;jgpd; tyJ Gwkhf tpyfpr; 
nry;fpwJ vd;gij $wpAs;s tpjp  
a. `k;Nghy;l; tpjp       b. ig Ngyl; tpjp   
c. /nguy;]; tpjp      d. epa+l;ld; tpjp  

 

16. Assertion (A): RBI controls the supply of money in the economy. 
Reason (R): It wants to stabilize exchange rate and control inflation. 
a. (A) is false, (R) is true 
b. (A) is true but (R) is false 
c. Both A and R are true but (R) is not the correct explanation of (A) 
d. Both (A) and (R) are true, (R) is the correct explanation of (A) 
e. Answer not known 
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$w;W (A):  ,e;jpa hprh;t; tq;fp ehl;bd; nghUshjhu gz toq;fiyf; 
   fl;Lg;gLj;JfpwJ. 
fhuzk; (R): me;epa nryhtzp ghpth;j;jid tpfpjj;ij 
epiyg;gLj;JtijAk; gztPf;fj;jpidf; fl;Lg;gLj;JtijAk; RBI 
Nehf;fkhf nfhz;Ls;sJ 
a. (A) jtW; (R) rhp 
b. (A) rhp; Mdhy; (R) jtW 
c. (A) kw;Wk; R ,uz;Lk; rhp; Mdhy; (R) vd;gJ (A) tpw;fhd rhpahd 

tpsf;fky;y 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> (R) vd;gJ (A) tpw;fhd rhpahd 

tpsf;fkhFk;. 
e. tpil njhpatpy;iy 

 
17. Paper Currency system is managed by the  

a. Central Monetary authority b. State Government 
c. Central Government  d. Reserve Bank of India   
e. Answer not known 
fhfpj gzk; Kiw ______y; eph;tfpf;fg;gLfpwJ. 
a. kj;jpa gztpay; Mizak; b. khepy muR  c. kj;jpa muR 
d. ,e;jpa hprh;t; tq;fp  e. tpil njhpatpy;iy 

 
18. Repo rate means 

a. Rate at which the Commercial Banks are willing to lend to RBI 
b. Rate at which the RBI is willing to lend to commercial banks 
c. Exchange rate of the foreign bank 
d. Growth rate of the economy 
e. Answer not known 
nug;Ngh tpfpjk; vd;gjd; nghUs; 
a. tzpf tq;fpfs; hprh;t; tq;fpfSf;F mspf;Fk; flDf;fhd tl;b tpfpjk; 
b. hprh;t; tq;fp tzpf tq;fpfSf;F mspf;Fk; flDf;fhd tl;b tpfpjk; 
c. me;epa nryhtzp khw;W tpfpjk; 
d. nghUshjhu tsh;r;rp tpfpjk; 
e. tpil njhpatpy;iy 

 
19. _________ is responsible to produce desirable effects on public Revenue 

and expenditure; and also responsible to avoid undesirable effects on the 
national income, production and employment.  
a. Fiscal policy     b.  Monetary policy  
c. Macro Economic policy           d. Fiscal and monetary policy  
e. Answer not known 
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________ MdJ nghJ tUtha; kw;Wk; nryTj; jpl;lk; Mfpatw;wpy; 
tpUk;gjf;f tpisTfis jUtjw;Fk;> Njrpa tUkhdk;> cw;gj;jp kw;Wk; 
Ntiytha;g;G Mfpatw;wpy; tpUk;gj;jfhj tpisTfis jLg;gjw;Fk; 
fhuzkhf cs;sJ.  
a. epjpf;nfhs;if    b. gzf;nfhs;if 
c. nghpa nghUshjhu nfhs;if  d. epjp kw;Wk; gzf; nfhs;if  
e. tpil njhpatpy;iy  

 
20. Which of the following is not the instruments of fiscal policy? 

a. Budget    b. Taxation   c. Public debt 
d. Bank rate   e. Answer not known 
gpd;tUtdtw;Ws; vJ epjp nfhs;ifapd; fUtp my;y? 
a. tuT nryT jpl;lk; b. thp tpjpg;G   c. nghJfld; 
d. tq;fp tPjk;   e. tpil njhpatpy;iy 

 
21. “Budget for a surplus if possible, balances the budget at other times, but 

never budget for a defit” — This statement was given by 
a.  Mahatma Gandhi  b. Dr. B.R. Ambedkar  c. Thiruvalluvar 
d. Jawaharlal Nehru  e. Answer not known 
“Kbe;jtiu cghp tuT nryTj; jpl;lk;> gpw Neuq;fspy; rkr;rPuhd tuT 
nryTj;jpl;lk; nray;gLj;jg;gl Ntz;Lk; Mdhy; gw;whf;Fiw tuT nryTj; 
jpl;lk; $lhJ” - ,e;jf; $w;iw $wpath; 
a. kfhj;kh fhe;jpabfs; b. lhf;lh;. gp. Mh;. Mk;Ngj;fh; c. jpUts;Sth; 
d. [t`h;yhy; NeU  e. tpil njhpatpy;iy 

 
22. Tax Revenue are  

1. Taxes on income and expenditure 
2. Taxes on property 
3. Taxes on Commodities 
4. Interest receipts and dividends. 
Select the correct answer using the code given 
a. 1, 2 and 4   b. 1, 2 and 3   c. 3, 4 and 2 
d. Above all   e. Answer not known 
thp tUkhdq;fspy; mlq;Ftd 
1. tUtha;> nryTfs; kPJ Nghlg;gLk; thp 
2. nrhj;Jf;fs; kPJ Nghlg;gLk; thp 
3. nghUs;fs; kPJ Nghlg;gLk; thp 
4. gq;Ffs; kw;Wk; tl;bfspd; tuT 
nfhLf;fg;gl;l FwpaPLfspypUe;J rhpahd $w;iwj; Njh;e;njL. 
a. 1> 2 kw;Wk;    b. 1> 2 kw;Wk; 3 c. 3> 4 kw;Wk; 2 
d. NkNy cs;s midj;Jk; e. tpil njhpatpy;iy 
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23. Find out which pair is not correct? 
a. RBI - Banker’s Bank 
b. FCI - Financial Assistance to Commercial Institutions 
c. IDBI – Industrial Finance 
d. EXIM Bank – Financing for Export and Import 
e. Answer not known 
jtwhd ,iziaf; fhz;f 
a. RBI -tq;fpfspd; tq;fp 
b. FCI –tzpf epWtdq;fSf;F epjp cjtp 
c. IDBI –njhopy; epjp 
d. EXIM tq;fp – Vw;Wkjp ,wf;Fkjp epjp cjtp 
e.  tpil njhpatpy;iy 

 
24. According to Keynes, fiscal policy is intended for 

I. Stabilisation of Prices   
II. Stabilisation of rate of growth 
III. Stabilisation of employment 
a. I and III are correct  b. I only correct  c. III only correct 
d. II only correct  e. Answer not known 
fPapd;]pd; fUj;Jg;gb> epjpf; nfhs;if ,jid Nehf;fkhf nfhz;lJ 
I. tpiyfis epiyg;gLj;Jjy;  
II. tsh;r;rp tpfpjj;ij epiyg;gLj;Jjy; 
III. Ntiytha;g;ig epiyg;gLj;Jjy; 
a. I kw;Wk; III kl;Lk; rup b. I kl;Lk; rup   c. III kl;Lk; rup 
d. II kl;Lk; rup   e. tpil njupatpy;iy 

 

25. Demonetization means 
a. It involves introducing a new currency in the economy 
b. It involves reducing the official value of a currency in relation to other 

currencies  
c. It involves stripping a currency units of its status as legal tender 
d. It involves increasing the official value of a currency in relation to other 

currencies 
e. Answer not known 
gzkjpg;gpog;G tpsf;fk; 
a. nghUshjhuj;jpy; Gjpa ehzaj;ij mwpKfg;gLj;JtJ 
b. kw;w ehzaq;fSld; njhlh;Gila ehzaj;jpd; mjpfhug;G+h;t kjpg;ig 

Fiwg;gJ 
c. xU ehzaj;jpd; rl;lG+u;t nryhtzp mq;fPfhuj;ij ePf;FtJ 
d. kw;w ehzaq;fSld; njhlh;Gila ehzaj;jpd; mjpfhug;G+h;t kjpg;ig 

mjpfhpg;gJ  
e. tpil njhpatpy;iy 
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26. “The Centre would levy and collect the IGST on all inter-state supply of 
goods and services”. What does I in IGST stands for? 
a. Internal    b. Intra   c. Integrated   
d. Intramural   e. Answer not known 
khepyq;fSf;F ,ilNaahd ruf;F kw;Wk; Nritfs; kPJ eLtz; muR 
t#ypf;Fk; IGST - ,y; cs;s “I” vd;gjd; tphpthf;fk; ahJ? 
a. Internal    b. Intra   c. Integrated 
d. Intramural   e. tpil njhpatpy;iy 

 
27. In India goods and service tax was implemented on 

a. June 1, 2017   b. July 1, 2017   c. April 1, 2018  
d. August 1, 2018  e. Answer not known 
,e;jpahtpy; ruf;F kw;Wk; Nrit thp ___________ y; mky;gLj;jg;gl;lJ. 
a. [_d; 1> 2017   b. [_iy 1> 2017  c. Vg;uy; 1> 2018 
d. Mf];l; 1> 2018  e. tpil njhpatpy;iy 

 
28. Who is the Chairman of G.S.T. Council? 

a. Home Minister  b. Prime Minister  c. President 
d. Finance Minister  e. Answer not known 
,e;jpahtpd; ruf;F kw;Wk; Nrit thp rigapd; jiyth; ahh;? 
a. cs;Jiw mikr;rh;  b. gpujkh;    c. [dhjpgjp  
d. epjp mikr;rh;  e. tpil njhpatpy;iy 

 
29. Which of the following is / are the advantage /s of goods and service tax? 

i. Removing cascading tax effect 
ii. Uniform taxation of goods and services 
iii. Tax decisions are taken jointly by Centre and State 
a. i  and ii only    b. i and iii only    c. ii and iii only 
d. i, ii and iii    e. Answer not known 
fPo;f;fz;ltw;Ws; ruf;F kw;Wk; Nritfs; thpapd; ed;ik/ ed;ikfs; vJ/ 
ahit? 
i. mLf;F thp tpisTfis ePf;FfpwJ. 
ii. ruf;Ffs; kw;Wk; NritfSf;F xNu khjphpahd thp 
iii. kj;jpa khepyq;fs; ,ize;J thp KbTfis vLf;fpwJ. 
a. i  kw;Wk;  ii kl;Lk;   b. i kw;Wk;  iii kl;Lk;   c. ii kw;Wk;  iii kl;Lk;  
d. i, ii kw;Wk; iii    e.  tpil njhpatpy;iy 

 
 
 
 
 



 

9 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

30. Which of the following statements about GST council is not true? 
1. The members of the GST council choose one amongst themselves to be 

the vice-chairperson of the council. 
2. Every decision of the GST council shall be taken by a meeting of not 

less than two-third of the weighted votes of the members present and 
voting. 

3. One-half of the total number of members of the GST council constitute 
the quorum at its meeting. 

a. 1 and 2   b. 2 and 3    c. 1 and 3   
d. 1, 2 and 3  e. Answer not known 
[pv];b fTd;rpy; gw;wpa gpd;tUk; mwpf;iffspy; vJ cz;ikay;y? 
1. [pv];b fTd;rpy; cWg;gpdh;fs; jq;fspy; xUtiu fTd;rpypd; Jizj; 

jiytuhf Njh;T nra;fpwhh;fs. 
2. [pv];b fTd;rpypd; xt;nthU KbTk; fye;J nfhs;Sk; kw;Wk; 

thf;fspf;Fk; cWg;gpdh;fspd; thf;Ffspy; %d;wpy; ,uz;L gq;fpw;Ff; 
Fiwahj $l;lj;jhy; vLf;fg;gLk;. 

3. [pv];b fTd;rpypd; nkhj;j cWg;gpdh;fspd; vz;zpf;ifapy; 
Fiwe;jgl;rk; ghjp Ngh; gq;F ngwNtz;Lk; 

a. 1 kw;Wk; 2  b. 2 kw;Wk; 3   c. 2 kw;Wk; 3   
d. 1> 2 kw;Wk; 3 e. tpil njhpatpy;iy 
 

31. Which of the following statement is/are correct about the NITI Ayog? 
I. All Chief Ministers of states except Union Territories with legislature 

are part of Governing Council. 
II. The Prime Minister of India is the Chairperson of the NITI Ayog. 
III. Finance Minister of India acts as Vice Chairman. 
a. only II and III   b. only II    c. only I 
d. only I and II   e. Answer not known 
fPo;tUk; $w;Wfspy; ‘epjp mNahf;’ gw;wpa ve;jf; $w;W rhpahdJ?  
I. rl;lkd;wk; nfhz;l A+dpad; gpuNjrq;fs; jtpu> midj;J khepy 

Kjy;th;fSk; MSk; FOtpy; mq;fk; tfpf;fpd;wd.  
II. ,e;jpag; gpujkh; ‘epjp mNahf;fpd;’ jiyth; Mthh;  
III. ,e;jpa epjpaikr;rh; Jiz jiytuhf nray;gLfpwhh;.  
a. II kw;Wk; III kl;Lk;  b. II kl;Lk;    c. I kl;Lk;   
d. I kw;Wk; II kl;Lk;   e. tpil njhpatpy;iy 

 
32. Choose the expansion of NITI Ayog? 

a. National Information and Taxes in India 
b. National Institution for Trade in India 
c. National Institution for Transforming India 
d. National Integrated Trade Institute    
e. Answer not known 
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NITI Aayog vd;gjd; tphpthf;fk; vd;d? 
a. National Information and Taxes in India 
b. National Institution for Trade in India 
c. National Institution for Transforming India 
d. National Integrated Trade Institute 
e. tpil njhpatpy;iy 

 
33. Which of the following is not the role of NITI Aayog? 

(i) Act as a think tank. 
(ii) Power to impose policies on states. 
(iii) Funds allocation 
a. i only    b. i and ii    c. ii and iii 
d. i and iii    e. Answer not known 
fPo;fz;ltw;wpy; vit epjp-MNahf;fpd; gzp ,y;iy? 
(i) xU MNyhrid FOthf nray;gLtJ. 
(ii) khepyq;fspy; jpl;lq;fis Rkj;Jk; nray;jpwd;. 
(iii) epjp xJf;fPL 
a. i kl;Lk;    b. i kw;Wk; ii   c. ii kw;Wk; iii 
d. i kw;Wk; iii   e. tpil njhpatpy;iy 

 
34. NITI Aayog as replacement for the Planning Commission was set up on 1st 

Jan, 2015 with _____ as its Vice-Chair Person. 
a. G.S. Bhalla   b. Arvind Panagariya c. Vijay I. Kelkar 
d. Suresh D. Tendulkar e. Answer not known 
jpl;lf; FOtpw;F khw;whf 1> [dthp 2015 md;W nfhz;L tug;gl;l epjp 
MNahf;fpd; mg;Nghija Jizj; jiyth; 
a. G.S. gy;yh   b. mutpe;j; gdfhhpah  c. tp[a; I. Nfy;fh; 
d. RNu~; D. nlz;Ly;fh; e. tpil njhpatpy;iy 

 
35. Prime Minister Nehru as chairperson “The National Planning 

Commission” was established on 
a. 15 March 1948    b. 15 March 1950 
c. 15 August 1942    d. 15 August 1950 
NeU jiyikapy; jpl;lf;FO epWtg;gl;l ehs;  
a. 1948 khh;r; 15 Mk; ehs;   b. 1950 khh;r; 15 Mk; ehs; 
c. 1948 Mf];l; 15 Mk; ehs;  d. 1950 Mf];l; 15 Mk; ehs; 

 
36. Which of the following bodies regularly reviewed the progress of the five 

-year plan? 
a. National Development Council b. Planning commission 
c. Cabinet Secretariat    d. Union Cabinet 
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Ie;jhz;L jpl;lq;fis MuhAk; epWtdk; vJ?  
a. Njrpa tsh;r;rp FO    b. jpl;l Mizak;  
c. Nfgpdl; nrayh; mYtyfk;  d. kj;jpa Nfgpdl;  

 
37. In which year the National Developmental Council (NDC) was set up? 

a. 1950  b. 1952  c. 1953  d. 1955 
Njrpa tsh;r;rpf;FO epWtg;gl;l Mz;L vJ?  
a. 1950  b. 1952  c. 1953  d. 1955 

 
38. Which one of the following is the function of the finance Commission of 

India? 
i. Allocation of the shares of net proceeds of taxes 
ii. Laying down principles governing grant-in-aid 
iii. Looking into the financial relation between the centre and the state 
a. i and ii    b. i, ii and iii    c. i and iii  
d. ii and iii    d. answer not known 
gpd;tUtdtw;wpy; ,e;jpa epjp Mizaj;jpd; nray;ghL vJ? 
i. thpfspd; epfu tUthapd; gq;Ffspd; xJf;fPL 
ii. khdpaq;fis eph;tfpf;Fk; nfhs;iffis tFj;jy; 
iii. kj;jpa kw;Wk; khepy muRfSf;F ,ilNa cs;s epjpAwit 

Muha;tJ 
a. i kw;Wk; ii   b. i, ii kw;Wk; iii   c. i kw;Wk; iii 
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 

 
39. Match the following: 

A. Eighth Finance Commission  1. Dr. Vijay Kelkar 
B. Twelfth Finance Commission  2. Dr. Y.V. Reddy 
C. Thirteenth Finance Commission 3. Y.B. Chavan 
D. Fourteenth Finance Commission 4. Dr. C. Rangarajan 
 A B C D 
a.  3 4 1 2 
b. 1 2 3 4 
c.  2 3 4 1 
d. 4 1 2 3 
e.  Answer not known  
gpd;tUtdtw;iwg; nghUj;Jf. 
A. vl;lhtJ epjpf; FO   1. Dr. tp[a; Nfy;fh; 
B. gd;dpuz;lhtJ epjpf;FO  2. Dr. Y.V. nul;b 
C. gjpd;%d;whtJ epjpf;FO  3. Y.B. rthd; 
D. gjpdhd;fhtJ epjpf;FO   4. Dr. C. uq;fuh[d; 
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A B C D 

a.  3 4 1 2  
b. 1 2 3 4 
c.  2 3 4 1 
d. 4 1 2 3 
e.  Answer not known  

 
40. Name the following articles of the Indian Constitution authorizes the 

appointment of Finance Commission? 
a. Article 252  b. Articles 268  c. Article 272 
d. Article 280  e. Answer not known 
fPo;fz;l ,e;jpa murpayikg;Gr; rl;lj;jpd; gphpTfspy; epjpf;FO ve;j 
gphptpd; fPo; cUthf;fg;gl;lJ? 
a. ruj;J 252  b. ruj;J 268   c. ruj;J 272 
d. ruj;J 280  e. tpil njhpatpy;iy 

 

41. Choose incorrect pair 
a. August 7 – Javelin Day 
b. August 7 – National Handloom Day 
c. August 10 – National Biofuel Day 
d. August 23 – National Space Day 
e. Answer not known 
gpd;tUtdtw;Ws; jtwhd ,iziaf; fz;lwpf. 
a. Mf];l; 7 - <l;b vwpjy; jpdk;   
b. Mf];l; 7 - Njrpa ifj;jwp jpdk;  
c. Mf];l; 10 - Njrpa capup vupnghUs; jpdk; 
d. Mf];l; 23 - Njrpa tpz;ntsp jpdk; 
e. tpil njupatpy;iy 
 

42. Choose incorrect statements regarding BRICS  
1. BRIC was formed in 2006 
2. 1st BRIC Summit was held in Russia on June 16, 2009 
3. BRIC group was renamed as BRICS in 2010 
4. 5 new countries were added to BRICS in 2023 
a. 1, 2 and 3  b. 1 and 4     c. 4 alone  
d. 2 and 4   e. Answer not known 
BRICS njhlu;ghd jtwhd $w;Wfisj; Nju;e;njLf;fTk; 
1. BRIC 2006 ,y; cUthf;fg;gl;lJ. 
2. Kjy; BRIC cr;rp khehL [_d; 16> 2009 md;W u~;ahtpy; eilngw;wJ 
3. BRIC FO 2010 ,y; BRICS vd kWngauplg;gl;lJ 
4. 2023 ,y; gpupf;]; mikg;gpy; 5 Gjpa ehLfs; Nru;f;fg;gl;ld 
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a. 1> 2 kw;Wk; 3  b. 1 kw;Wk; 4   c. 4 kl;Lk;  
d. 2 kw;Wk; 4  e. tpil njupatpy;iy 
 

43. Choose incorrect statement regarding Malabar Exercise – 23 
1. Exercise MALABAR is a Multinational Army Exercise 
2. MALABAR – 23 held in Australia coast 
3. Navies of India Australia, USA and Japan Participated in MALABAR – 

23 
a. 1 alone    b. 1, 2     c. 2, 3 
d. 1, 2, 3   e. Answer not known 
kyghu; gapw;rp - 23 njhlu;ghf jtwhd $w;Wfisf; fz;lwpf 
1. kyghu; gapw;rp vd;gJ gd;dhl;L ,uhZtg; gapw;rpahFk;. 
2. kyghu; gapw;rp - 23 M];jpNuypah flw;fiuapy; eilngw;wJ. 
3. ,e;jpah M];jpNuypah> mnkupf;fh kw;Wk; [g;ghd; flw;gilfs; kyghu; 

gapw;rp - 23 ,y; gq;Nfw;wd. 
a. 1 kl;Lk;   b. 1 kw;Wk; 2   c. 2 kw;Wk; 3  
d. 1> 2 kw;Wk; 3 e. tpil njupatpy;iy 
 

44. Choose correct statement regarding TN CM Breakfast Scheme 
1. Scheme was launched on Sep 15, 2022 in Madurai 
2. Initially implemented in 1545 Government Primary Schools 
3. Scheme was expanded to 31008 schools on August 25, 2023 
4. The inauguration of expansion held in Thirukuvalai, Thiruvarur district 
a. 1, 2, 3   b. 1, 3, 4    c. 2, 3  
d. All of these  e. Answer not known 
jkpo;ehL Kjyikr;ru; fhiy czT jpl;lk; njhlu;ghd rupahd 
mwpf;ifiaj; Nju;T nra;aTk;. 
1. ,e;j jpl;lk; nrg;lk;gu; 15> 2022 md;W kJiuapy; njhlq;fg;gl;lJ. 
2. Kjw;fl;lkhf 1545 muR njhlf;fg; gs;spfspy; nray;gLj;jg;gl;lJ. 
3. ,e;j jpl;lk; Mf];l; 25> 2023 md;W 31>008 gs;spfSf;F 

tpupTgLj;jg;gl;lJ. 
4. jpUth&u; khtl;lk; jpUf;Ftisapy; njhlf;f tpoh eilngw;wJ.    
a. 1> 2 kw;Wk; 3   b. 1> 3 kw;Wk; 4  c. 2 kw;Wk; 3 
d. ,it midj;Jk;  e. tpil njupatpy;iy 
 

45. Choose incorrect pair 
1. World Athletic Championship 2023 – Baku 
2. Chess World Cup 2023 – Budapest 
a. 1 alone   b. 2 alone    c. Both 1 and 2 
d. Neither 1 nor 2 e. Answer not known 
gpd;tUtdtw;Ws; jtwhd ,izia Nju;e;njLf;fTk;. 
1.  cyf jlfs rhk;gpad;~pg; 2023 - ghF 
2. nr]; cyff; Nfhg;ig 2023 - Gjhng];l; 
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a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,uz;Lk; ,y;iy e. tpil njupatpy;iy 
 

46. Choose correct statement  
1. Maya – OS – developed by Indian Defence Research and Development 

Organization 
2. Maya – OS – developed on Microsoft Open Source Platform 
a. 1 alone   b. 2 alone    c. Both 1 and 2 
d. Neither 1 nor 2 e. Answer not known 
gpd;tUtdtw;Ws; rupahd $w;iwj; Nju;e;njLf;fTk; 
1. khah - OS - ,e;jpa ghJfhg;G Muha;r;rp kw;Wk; Nkk;ghl;L  

epWtdj;jhy; cUthf;fg;gl;lJ. 
2. khah - OS - ikf;Nuhrh/g;l; jpwe;j %y jsj;jpdhy; cUthf;fg;gl;lJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2 ,uz;Lk;  
d. ,uz;Lk; ,y;iy e. tpil njupatpy;iy 
 

47. 7th Asian Hockey Championship was held in _______ 
a. Beijing   b. New Delhi   c. Tokyo 
d. Chennai  e. Answer not known 
7-tJ Mrpa `hf;fp rhk;gpad;~pg; Nghl;b _______ ,y; eilngw;wJ. 
a. nga;[pq;   b. GJ nly;yp    c. Nlhf;fpNah   
d. nrd;id  e. tpil njupatpy;iy 
 

48. Choose incorrect statements 
1. Committee on Sub-categorisation of OBC headed by G. Rohini 
2. Mission Indradanush 5.0 – Immunisation of Children less than 5 years 

and pregnant women 
3. Under Amrut Bharat Station Scheme, 18 Railway Stations in Tamilnadu 

are being upgraded 
a. 1, 2    b. 2, 3     c. 1, 2, 3  
d. None of these  e. Answer not known 
gpd;tUtdtw;Ws; jtwhd mwpf;ifiaj; Nju;e;njLf;fTk;.  
1. [p. Nuhfpdp jiyikapyhd OBCapd; Jizg; gpupTf;fhd FO cs;sJ. 
2. kp~d; ,e;jpujD~; 5.0 -  5 taJf;Fl;gl;l Foe;ijfSf;Fk;> 

fu;g;gpzpg; ngz;fSf;Fk; jLg;G+rp NghLjy;  
3. mk;Uj; ghuj; uapy; epiya jpl;lj;jpd; fPo;> jkpofj;jpy; 18 uapy; 

epiyaq;fs; Nkk;gLj;jg;gLfpd;wd. 
a. 1 kw;Wk; 2   b. 2 kw;Wk; 3   c. 1> 2> kw;Wk; 3 
e. ,it midj;Jk;  e. tpil njupatpy;iy 
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49. Choose the correctly matched pairs regarding Geographical Indications 
I. Jaderi Tiruman   - Thiruvannamalai  
II. Matti Banana   – Kanniyakumari 
III. Chedibutta Sarees - Kanchipuram 
a. I, II  b. I, III    c. II, III 
d. I, II, III  e. Answer not known 
Gtprhh; FwpaPLfis nghUj;J rhpahd ,izfis Njh;T nra;f 
I. [Nlhp jpUkz;  - jpUtz;zhkiy 
II. kl;b thiog;gok; - fd;dpahFkhp 
III. nrbGl;lh Nriyfs; - fhQ;rpGuk; 
a. I, II  b. I, III    c. II, III 
d. I, II, III  e. tpil njhpatpy;iy 
 

50. Which of the following has become the first Legislative Assembly in the 
entire country to get smart classrooms in all government and government 
aided schools? 
a. Radhapuram  b. Ramapuram  c. Dr. Radhakrishnan nagar 
d. Kolathur  e. Answer not known 
gpd;tUk; njhFjpfspy; ve;j njhFjp midj;J muR kw;Wk; muR 
cjtpngWk; gs;spfspYk; ];khh;l; tFg;giwfisf; nfhz;l ehl;bd; Kjy; 
rl;lkd;wj;njhFjp vd;w rpwg;igg; ngw;Ws;sJ? 
a. uhjhGuk;   b. ,uhkhGuk;    c. lhf;lh;. ,uhjhfpU~;zd; efh;  
d. nfhsj;J}h;  e. tpil njhpatpy;iy 
 

51. Choose the correct statements 
I. Adichanallur museum is the first onsite archaeological museum in 

the country 
II. Adichanallur was first time excavated in 1873 
a. I only   b. II only    c. Both   
d. None of these e. Answer not known 
rhpahd $w;Wfisj; Njh;f 
I. Mjpr;rey;Y}h; mUq;fhl;rpafk; njhy;ypay; jsj;jpNyNa 

epWtg;gl;Ls;s ,e;jpahtpd; Kjy; njhy;nghUs; mUq;fhl;rpafk; 
MFk; 

II. 1873Mk; Mz;L Mjpr;rey;Y}hpy; Kjy; Kiwahf mfoha;T 
Nkw;nfhs;sg;gl;lJ 

a. I kl;Lk;    b. II kl;Lk;    c. ,uz;Lk; 
d. ,uz;Lky;y   e. tpil njhpatpy;iy 
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52. Choose the correct statements 
I. Tamilnadu won the best state award for organ and tissue 

transplantation 
II. Indian organ donation day was observed on 13 August 
III. Vidiyal the mobile app was rolled out in August 2021 for registration 

of patients and allocation of organs. 
IV. In Tamilnadu, the deceased donar organ transplantation programme 

was launched in 2004 
a. I, III   b. I, III, IV    c. I, II, III 
d. All of these  e. Answer not known 
rhpahd $w;Wfisj; Njh;T nra;f 
I. cWg;G kw;Wk; jpR khw;Wr; rpfpr;irf;fhd rpwe;j khepy tpUij 

jkpo;ehL ngw;Ws;sJ 
II. ,e;jpa cWg;G jhd jpdk; Mf];l; 13 md;W mDrhpf;fg;gLfpd;wJ 
III. tpbay; vd;w nkhigy; nrayp Nehahspfisg; gjpT nra;tjw;Fk; 

cWg;Gfis xJf;Ftjw;Fk; 2021,y; Jtq;fg;gl;lJ 
IV. 2004Mk; Mz;by; jkpo;ehl;by; ,we;jth;fsplkpUe;J ngwg;gLk; cWg;G 

khw;W mWit rpfpr;irj;jpl;lk; njhlq;fg;gl;lJ. 
a. I, III   b. I, III, IV    c. I, II, III 
d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

53. Which is known as the Aligarh of the South? 
a. Nagur   b. Coimbatore   c. Variyambadi 
d. Tirunelveli  e. Answer not known 
njd;dfj;jpd; mypfhh; vd miof;fg;gLtJ vJ? 

 a. eh$h;   b. Nfhak;Gj;J}h;   c. thzpak;ghb 
d. jpUney;Ntyp  e. tpil njhpatpy;iy 
 

54. The Justice Rohini Commission is related to 
a. Explore the subcategorization of other Backward Classes (OBC) 
b. Reviewing the POCSO Act 
c. To monitor and report submission on women empowerment schemes 
d. Reviewing the Lokadalats and its functions 
e. Answer not known 
ePjpgjp Nuhfpzp FOTld; njhlh;GilaJ 
a. ,ju gpw;gLj;jg;gl;l tFg;gpdh; (OBC) FOf;fspd; Jiz tifahf;fk; 

gw;wp Ma;T Nkw;nfhs;Sjy; 
b. Nghf;Nrh rl;lj;ij Nkw;ghh;itapLjy; 
c. ngz;fSf;F mjpfhukspj;jy; njhlh;ghd jpl;lq;fis fz;fhzpj;J 

Ma;twpf;if rkh;g;gpj;jy; 
d. Nyhf; mjhyj; kw;Wk; gzpfis Nkw;ghh;itaply; 
e. tpil njhpatpy;iy 
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55. Which is the first all women railway station of India? 
a. Matunga   b. Poona    c. Ahamadabad 
d. Nungambakkam  e. Answer not known 
,e;jpahtpd; Kjy; midj;J kfsph; uapy; epiyak; vJ? 
a. kl;Lq;fh    b. g+Nd    c. mfkjhghj; 
d. Eq;fk;ghf;fk;   e. tpil njhpatpy;iy 
 

56. Choose the correct statements about “MERA BILL MERA ADHIKAAR 
SCHEME” (MBMA) 
1. Central Board of Direct Taxes and customs launching invoice incentive 

scheme MBMA from 1st September 2023 on Pilot basis 
2. To bring a cultural and behavior change in the public to “ASK for a 

Bill” as their right and entitlement 
3. Allows people to earn cash prizes from Rs.10,000 to Rs.1 crore on the 

upload of GST invoices 
a. 1 and 2   b. 2 and 3    c. 1 and 3 
d. 1, 2 and  3  e. Answer not known 
“Nkuh gpy; Nkuh mjpfhu jpl;lk;” (MBMA) gw;wpa rupahd mwpf;iffisj; 
Nju;T nra;aTk;. 
1. Neub tupfs; kw;Wk; Rq;fj;Jiwf;fhd kj;jpa FO> 2023 nrg;lk;gu; 1 

Mk; Njjp Kjy; Nrhjid mbg;gilapy; MBMA tpiyg;gl;bay; 
Cf;fj;njhifj; jpl;lj;ij njhlq;FfpwJ. 

2. nghJkf;fspilNa "gpy; NfSq;fs;" vd;gij mtu;fspd; cupik kw;Wk; 
jFjp vd;w fyhr;rhu kw;Wk; elj;ij khw;wj;ij Vw;gLj;Jjy;  

3. [pv];b tpiyg;gl;bay; gjpNtw;wk; nra;Ak; NghJ &.10>000 Kjy; &.1 
Nfhb tiuapyhd nuhf;fg; gupRfisg; ngwyhk;. 

a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;  
c. 1 kw;Wk; 3 kl;Lk;  d. 1> 2 kw;Wk; 3 kl;Lk; 
e. tpil njupatpy;iy 

 

57. Global Centre for Traditional Medicine located at which place in India? 
a. Gandhinagar  b. Ahmedabad   c. Mumbai 
d. Delhi   e. Answer not known 
cyf ghuk;gupa kUj;Jt ikak; ,e;jpahtpy; vq;F mike;Js;sJ? 
a. fhe;jpefu;   b. mfkjhghj;    c. Kk;ig  
d. nly;yp    e. tpil njupatpy;iy 
 

58. Theme of G20 Ministerial Summit on Women Empowerment 
a. Empowering women, attaining gender equality 
b. Women Empowerment : “Towards health and well being for women” 
c. “Women - Led Development : Ensuring a sustainable, inclusive and 

equitable global economic growth” 
d. Political and social empowerment of women 
e. Answer not known 
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fPo;f;fz;ltw;wpy; vJ kfspu; mjpfhukspj;jy; Fwpj;j [p20 mikr;ru;fs; 
khehl;bd; Kf;fpaj;Jtk;  
a. kfspu;fSf;F  mjpfhukspj;jy;> ghypd rkj;Jtj;ij miljy;  
b. kfspu;fSf;F mjpfhukspj;jy;: ngz;fspd; MNuhf;fpak; kw;Wk;   

ey;tho;T 
c. “kfspu; jiyikapyhd tsu;r;rp: epiyahd tsu;r;rpia cs;slf;fpa 

kw;Wk; rkkhd cyfshtpa nghUshjhu tsu;r;rpia cWjp nra;jy;" 
d. ngz;fspd; murpay; kw;Wk; r%fj;jpy; mjpfhukspj;jy; 
e. tpil njupatpy;iy 
 

59. Choose the incorrect statement 
1. Fishermen conference organised by Tamilnadu state apex fisheries co-

operation federation limited (TAFCOFED) 
2. Fishermen conference took place at pamban in Ramanathapuram 

district 
a. 1 only    b. 2 only   c. Both 1 and 2 
d. None of these  e. Answer not known 
gpd;tUtdtw;wpy; jtwhd mwpf;ifiaj; Nju;e;njLf;fTk;. 
1. jkpo;ehL khepy kPd;ts $l;LwT $l;likg;G ypkpnll; (TAFCOFED) 

elj;jpa  kPdtu;fs; khehL 
2. uhkehjGuk; khtl;lk; ghk;gdpy; kPdtu;fs; khehL eilngw;wJ. 
a. 1 kl;Lk;    b. 2 kl;Lk;  c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,tw;wpy; VJkpy;iy e. tpil njupatpy;iy 

 

60. Choose the incorrect statements about India-Greece relation in Ancient 
Times 
1. Chanakya in Chandragupta’s Court Records in Arthasastra about the 

Yavan Ambassador in the Kings court named Megasthenes 
2. Trading between Mauryan Kings and Greece is evidenced by Coinage 

and writings 
3. Gandhara art is believed to be a fusion of Indian and Greek influences 
a. 1 and 2    b. 2 and 3   c. 1 and 3 
d. None of these  e. Answer not known 
gz;ila fhyq;fspy; ,e;jpah-fpuP]; cwT Fwpj;j jtwhd mwpf;iffisj; 
Nju;e;njLf;fTk; 
1. re;jpuFg;jupd; muritapy; rhzf;fpau;> mu;g;grh];jpuj;jpy; nkfh];jdp]; 

vd;w gy  J}ju;fs; gw;wp Fwpg;gpLfpwhu;. 
2. nksupa kd;du;fSf;Fk; fpNuf;fu;fSf;Fk; ,ilNaahd tu;j;jfj;jpw;F 

ehzaq;fs; kw;Wk; vOj;Jf;fs; Mjhukhf cs;sd. 
3. ,e;jpa kw;Wk; fpNuf;f jhf;fq;fspd; fyitahf fhe;jhu fiy 

fUjg;gLfpwJ 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;  
c. 1 kw;Wk; 3 kl;Lk;  d. ,tw;wpy; VJkpy;iy  
e. tpil njupatpy;iy 
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61. Choose the Correct statements about QUAD 
1. QUAD Members are India, Japan, The United States and Australia 
2. Malabar Naval Exercise takes place among the QUAD Members 
a. 1 only    b. 2 only    c. Both 1, 2  
d. None of these  e. Answer not known 
QUAD gw;wp rupahd mwpf;iffis Nju;e;njLf;fTk;. 
1. ,e;jpah> [g;ghd;> mnkupf;fh kw;Wk; M];jpNuypah Mfpa ehLfs; Fthl; 

mikg;gpd; cWg;gpdu;fshf cs;sd. 
2. Fthl; cWg;gpdu;fspilNa kyghu; flw;gil gapw;rp eilngw;wJ 
a. 1 kl;Lk;    b. 2 kl;Lk;  c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,tw;wpy; VJkpy;iy e. tpil njupatpy;iy 
 

62. In which city was the first self respect marriage held? 
a. Arupukottai  b. Erode    c. Sukkilanatham 
d. Thiruthangal  e. Answer not known 
Kjy; Rakupahij jpUkzk; ve;j efuj;jpy; eilngw;wJ? 
a. mUg;Gf;Nfhl;il  b. <NuhL     c. Rf;fpyehjk;  
d. jpUj;jq;fy;  e. tpil njupatpy;iy 
 

63. “Major aim of the Digital personal Data protection act 2023 is to protect 
the privacy of the Individual” 
Based on the above context choose the appropriate case 
a. K.S. Puttaswamy Vs Union of India 2017 
b. Subramaniam Balaji Vs Union of India 2013 
c. Amit Devgan Vs Union of India 2020 
d. Joseph Shine Vs Union of India – 2018 
e. Answer not known 
b[pl;ly; jdpg;gl;l juT ghJfhg;Gr; rl;lk;> 2023 ,d; Kf;fpa Nehf;fk; 
jdpegupd; jdpg;gl;l cupikiag; ghJfhg;gjhFk;. 
Nkw;fz;l R+oiy mbg;gilahff; nfhz;L> nghUj;jkhd tof;ifj; Nju;T 
nra;aTk;. 
a. Nf.v];.Gl;lrhkp Vs A+dpad; M/g; ,e;jpah 2017 
b. Rg;ukzpak; ghyh[p Vs A+dpad; M/g; ,e;jpah 2013  
c. mkpj; Njt;fd; Vs A+dpad; M/g; ,e;jpah 2020  
d. N[hrg; i~d; Vs A+dpad; M/g; ,e;jpah - 2018  
e. tpil njupatpy;iy 

 
64. avaiyaRinhadhu aaraaindhu solluka sollin 

thokaiyaRindha thooimai yavar 
In this Kural the term avai means 
a. forum   b. packing    c. association 
d. a and c   e. answer not known 
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mitawpe;J Muha;e;J nrhy;Yf nrhy;ypd;  
njhifawpe;j J}a;ik ath; - vd;w Fwspy; “mit” vd;gjd; nghUs; 
vd;d? 

 a. kd;wk;   b. nghjpT    c. fofk; 
 d. a kw;Wk; c  e. tpil njhpatpy;iy 
 
65. Choose the kural for the following meaning 

The modesty by which one does not rush forward and speak in (an 
assembly of) superiors is the best among all (one's) good qualities. 
a. As in the way one tottering falls, is slip before 

The men whose minds are filled with varied lore. 
b. The learning of the learned sage shines bright 

To those whose faultless skill can value it aright. 
c. To speak where understanding hearers you obtain, 

Is sprinkling water on the fields of growing grain!. 
d. Midst all good things the best is modest grace, 

That speaks not first before the elders' face. 
e. Answer not known 
mwpTkpFe;jthpilNa Ke;jpnrd;W Ngrhj mlf;fk; xUtDf;F ed;ik 
vd;W nrhy;yg;gl;lit vy;yhtw;wpYk; ey;yJ – vd;gij czh;j;Jk; Fws; 
vJ? 
a. Mw;wpd; epiyjsh;e; jw;Nw tpad;gyk; 

Vw;Wzh;thh; Kd;dh; ,Of;F 
b. fw;wwpe;jhh; fy;tp tpsq;Fk; frlwr; 

nrhy;njhpjy; ty;yhh; mfj;J 
c. czh;t Jilahh;Kd; nrhy;yy; tsh;tjd; 

ghj;jpAs; ePh;nrhhpe; jw;W 
d. ed;nwd;w tw;Ws;Sk; ed;Nw KJtUs;  

Ke;J fpsthr; nrwpT 
e. tpil njhpatpy;iy 

 

66. __________ encountering death in the face of foe will hold their ground;  
Who speak undaunted in the council hall are _______ found 
a. Rare, Many   b. Many, Rare 
c. Learned among learned d. learned yet useless 
e. Answer not known 
gifafj;Jr; rhthh; ______, _____ 
mitafj;J mQ;rh jth; 
a. mhpah;> vspah;  b. vspah;> mhpah; 
c. fw;whUs;> fw;whh;  d. fw;Wk;> gakpyNu 
e. tpil njhpatpy;iy 
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67. The Chapter undaunted in the council is __________ 
a. 63  b. 68  c. 73  d. 62  e. Answer not known 
mit mQ;rhikapd; mjpfhu vz; ______ 
a. 63  b. 68  c. 73  d. 62  e. tpil njhpatpy;iy 
 

68. Chapter 75 is __________ 
a. Greatness  b. The Fortification  c. The Land 
d. None of these e. Answer not known 
mjpfhu vz; 74 __________ 
a. ngUik   b. muz;    c. ehL 
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

69. Which one of the following is not mentioned by Valluvar to make a land? 
a. River water b. Fountain water  c. Rain 
d. Forest  e. Answer not known 
gpd;tUtdtw;Ws; ehl;bd; cWg;Gfshf ts;Sth; Fwpg;gplhjJ vJ? 
a. Mw;WePh;  b. Cw;WePh;    c. kio 
d. fhL  e. tpil njhpatpy;iy 
 

70. Ram is 5 years older than Anand and Anand is 3 years older than Kiran. If 
sum of present ages of Anand and Ram is 55 years, then find age of kiran 
7 years hence?  
a. 27      b. 32     c. 29 d. 22   e. Answer not known 
uhk; vd;gth; Mde;ij tpl 5 taJ nghpath; kw;Wk; Mde;j; fpuz; - ia 
tpl 3 taJ nghpath;. Mde;j; kw;Wk; uhkpd; jw;Nghija tajpd; $Ljy; 
55 tUlq;fs; vdpy;> 7 tUlj;jpwF gpwF fpuzpd; taJ vd;d?  
a. 27  b. 32    c. 29 d. 22   e.  tpil njhpatpy;iy 

 
71. The total marks obtained by a student in Physics, Chemistry and 

Mathematics together is 120 more than the marks obtained by him in 
Chemistry. What is the average marks obtained by him in Physics and 
Mathematics together?  
a. 40  b. 60   c. 120  d. 80   e. Answer not known 
,aw;gpay;> Ntjpapay; kw;Wk; fzpjk; Mfpatw;wpy; xU khzth; ngw;w 
nkhj;j kjpg;ngz;fs; Ntjpapaypy; mth; ngw;w kjpg;ngz;fis tpl 120 
mjpfk;. ,aw;gpay; kw;Wk; fzpjj;jpy; mth; vLj;j kjpngz;fspd; 
ruhrhpia fhz;f.  
a. 40  b. 60   c. 120  d. 80   e.  tpil njhpatpy;iy 
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72. Out of 9 persons, 8 persons spent Rs 30 each for their meals. The ninth one 
spent Rs 20 more than the average expenditure of all the nine. The total 
money spent by all of them was: 
a. Rs 282.50  b. Rs 292.50    c. Rs 302.50  
d. Rs 312.50   e. Answer not known 
9 egh;fspy;> 8 egh;fs; cztpw;fhf jyh & 30 nryT nra;fpd;wdh;. 
xd;gjhtJ egh; midtuJ ruhrhp nryit tpl & 20 mjpfk; 
nrytpLfpd;whh;. vdpy; mth;fs; nrytpl;l nkhj;j njhif vt;tsT?  
a. Rs 282.50  b. Rs 292.50   c. Rs 302.50  
d. Rs 312.50  e.  tpil njhpatpy;iy 

 
73. Find the LCM of (5x - 10), (5x2 - 20) 

a. 5(x – 2)  b. 5(x + 2)    c. 5(x-2) (x+2)    
d. 5x      e. Answer not known  
(5x - 10), (5x2 - 20) ,d; kP.ngh.k fhz;f. 
a. 5(x – 2)  b. 5(x + 2)    c. 5(x-2) (x+2)    
d. 5x     e.  tpil njhpatpy;iy 

 
74. Find the LCM of 0.6, 9.6 and 0.12. 

a. 9.4  b. 9.  c. 9.3  d. 9.0    e. Answer not known 
0.6, 9.6 kw;Wk; 0.12 d; kP.ngh.k itf; fz;Lgpb.  
a. 9.4  b. 9.6  c. 9.3  d. 9.0    e.  tpil njhpatpy;iy 

 
75. Find the number of pairs of positive integers whose sum is 99 and highest 

common factor is 9? 
a. 5  b. 4  c. 3  d. 2  e. Answer not known 
$Ljy; 99k;> kPg;ngU nghJ tF vz; 9k; cila kpif vz; N[hbfspd; 
vz;zpf;if  
a. 5  b. 4  c. 3  d. 2  e. tpil njhpatpy;iy 
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